Chapter 7 Section 2

Simplify.
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Cumulative Warm Up

Ecsential Question

How can you multiply two polynomials?
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Chapter 7 Section 2

Work with a partner. Write each product. Explain your reasoning.
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Exploration 1

Work with a partner. Write the product of two binomials modeled by
each rectangular array of algebra tiles. In parts (c) and (d), first draw
the rectangular array of algebra tiles that models each product.

a (x+3)(x-2) = b. (2x - 1)(2x + 1) =
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Exploration 2a-b

c.(x+2)(2x-1)= d. (—x=-2)(x-3)=
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Find (a) (x + 2)(x + 5) and {b) (x + 3)(x = 4). . ‘
multip 4
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Example 1

Find (2x - 3)(x + 5). ’
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Example 2

.
| Y Shident yrachee &
Use the Distributive Property to find the product.

1L{y+4y+1) 2.(z-2)(z+86)
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[
Use a table to find the product.

3. (p+3)(p-8) 4. (r-5)(2r-1)
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Monitoring Progress 1-4
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G) Core Concept

FOIL Method

To multiply 1wo binowials using the FOIL Method, tind the sum of the prodncts

of the

First terms, W I+ 2) = xe) = xt

R
Outer 1erms. (x+ I)x+ 2y = x(2)=2x
P
Lnner terms, anct x+ Hir +2) - lix) = x
Last terms. w+ l)(\ +A\l) [=="4 12)=2
\ W+ v+ )=+ 2+ +2=x2+2r+2

Core Concept

. : 1 wworeh for Vi Yerms

Find each product.
a. (x-3)(x-6) b. (2x + 1)(3x - 5)
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Example 3
Use the FOIL Method to find the product. |
| 5. (m=-3)(m-7) 6. (x - 4)(x +2)
|
m-1om 3l xP-x-8
i (2u+%)[u—%) 8. (0 + 2)(n* + 3)
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4 Can oS0 Show
| varricwl,

Find (x + 5)( - 3x - 2).
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Example 4

In hockey, a goalie behind the goal
line can only play a puck in the
trapezoidal region.

a. Write a polynomial that represents the
area of the trapezoidal region.

S

{x?jft;
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b. Find the area of the trapezoidal region
when the shorter base is 18 feet.

Example 5

|
Find the product.

9. (x + 1)(x* + 5x + 8) 10. (n - 3)(n* - 2n + 4)
VB HLx2FI2x FE p3_gpd HiOM3

11. WHAT IF? In Example 5(a), how does the polynomial change when
the longer base is extended by 1 foot? Explain.

It becomes x3-3 _ -2 the
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* Point of Most Significance: Ask students to identify, aloud or on a
paper to be collected, the most significant point (or part} in the lesson
that aided their learning.

Bl-A1

Closure




